Basketball

EXIT Galaxy Inground Basket




EXIT Galaxy Inground Basket

www.exittoys.com MSP-710-VO1 1




EXIT Galaxy Inground Basket

o 0@ @ [T —

| 69.4690.01 | 1X | | 63.46.90.02 | 1X | | 69.46.90.03 | 1X |
| 69.46.90.04 | 1X |  69.46.90.00 | 1X | | 69.46.90.06 | 2X |

69.46.90.07 | 2X |  69.46.90.08 | 2X | 69.46.90.09 | 1X |

o [, o T e |

69.46.90.10 | 1X | | 69.46.8120 | 4X | | 69.46.52.00 |2X |
A\ E E
1
69.46.90.13 | 1X | 69469014 |1X | | 63.46.90.50 | 1X |

Www.exittoys.com MSP-710-V01 2




46.40.10.00 | 1X |

| 69.46.90.35 | 1X |

WwWWw.exittoys.com

| ] XX
46509020 | 1X vava'a
o AN
N E——
| 46509030 | 1X | | 4650.90.00 | 1X |

63.46.90.36 | 1X |

MSP-710-V01



EXIT Galaxy Inground Basket

,_________________\
—_ e e —

—_ e — — — — —

69.46.99.00-1
s - - - - - - - - """ -"""""=-""-""-"="="="»="-"»="-"»="=~"="="="»"="-" =" =" ="—""="”=""="—-—""”"=- """ ="¥="—7W¥—7WV“—W¥' -/ = ~
( g \
| Q[ N @ |
' @ @ @ |
[ [
| [
[ [
i wexss[2x | (e [ox | (v [ox | i
[ |
| I ] |
[ [
. @ |
[ [
[ [
[ [
{ | c0306000014 | 1X | }
N o o o o 7

69.46.99.00-2
s - - - - - - """ -""-"""=>-""""-"""-"-""-""-"="-="-"="-=»="-"»="-"»="-=»="-=»="=»="—=»="-="» =" ="=="="="="="—"="="—"="—"="—"=”=—-—"=”—=-W¥—-—-WV"”-"—"¥¥——' = N
( |
| VAN |
D¢ @ O 5o |
[ [
[
| [wizxezs [x | [z [ox | e
l M12 Bolt Sets )
N o o __

69.46.399.00-3

www.exittoys.com MSP-710-VO1




69.46.99.00-4

M10
D

M10X88
5105915

[ _
| I
I I
I |
I I
I . I
| |
I ! I
| I
I , I
| I
I |
| |
I I
| |
I I
I |
| I
I I &
| — |
o
| | o
_ = S
I >
| _m =]
| | @ W
[ 2 @
| 3 < = r S =
< =< 14 Y S
I e = =] A J =] I a
| s = s < = [
[ | 2
| | @
| 1] (-
(=]
O (5 () (5 3
| _m
| R (-
I |
[, [
I - I
I =< I
I o I
| - |
| < |
| g I
I = I
| - e s
| o o m |
e S|
_ 5 S o O e |
_ = s s = = _ =
I L |
_ | 5
1] A
[ | >
I I IS
=
@ (3] (5 (S ) | =
| | M
\ Y,
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII W
=




EXIT Galaxy Inground Basket

M10X30
e Jax |

Of
®

B
0

M12

1® H
M12X40
@ O
M10
(46)

[

M10X100
O

[ [
(©
M10

69.46.30.00

Hardware Blister Pack (C8502000023)

o e e e e e e e

MSP-710-V01

www.exittoys.com



WwWWw.exittoys.com

Part.Nr.

Qty

HARDWARE NEEDED

2

4

5

@ b

@

s Jax |

© [ve 2 |

MSP-710-V01




EXIT Galaxy Inground Basket

Part.Nr.

Oty

HARDWARE NEEDED

www.exittoys.com

M]DX]DD

MSP-710-V01






EXIT Galaxy Inground Basket

Part.Nr. | Qty HARDWARE NEEDED

16 1 @ @
. . H ©
MBX4D [ 4x | M8 [ax |

Www.exittoys.com MSP-710-V01 10



Part.Nr.

Qty

10

16

17

18

EEC NS QRN JY

HARDWARE NEEDED

@ (0) @0
e Jax

O & O

voeo (ax| (v x|

e |ax |

NQiae .

)
¥ '
Y

i ).

Rim46.90.50.20

WwWWw.exittoys.com

MSP-710-V01

11



Qty

R (U N

EXIT Galaxy Inground Basket

HARDWARE NEEDED

(21

[0 [ax |

e Ty

s B
!\"‘!l\!m'ﬂ.:,;a

DUNK-RIm
46.90,50.30

www.exittoys.com

MSP-710-V01




HARDWARE NEEDED

o - e(0) @)

m ‘Mwuplusti ththththth ‘4X ‘ ‘NHZ ‘ZX ‘

o | o 0 © () Cvierezs [ |
T Q) [meTw]

V

i
NN

,\j@

——

)
\Q’

il

N

l

WWW.exittoys.com MSP-710-V0T 13




EXIT Galaxy Inground Basket

Part.Nr. | Qty HARDWARE NEEDED
8 2 E
M10X135 | 1X |

O O iow @O

A
l,\"\’//'\‘//‘{//.\"/t
V, &\//'\//’\/N

AN

i

www.exittoys.com



HARDWARE NEEDED

®H |
N nexezs [ |
©() 00
PurEt.Nr. Q;y m Ve m

W

//
\

TN\
i

www.exittoys.com MSP-710-VO1 15




EXIT Galaxy Inground Basket

HARDWARE NEEDED

H |

20/

- ez | |
(50] XK@

Part.Nr. | Qty

% | 2 w2 [ |

170

7S

Detail A

www.exittoys.com MSP-710-VO1




HARDWARE NEEDED

Part.Nr.

Qty

36

QE -ﬂ
JORNS

M2 [2x | Mz X |

of el
ioes [

o @ (O) (/x|

‘ M10 Plastic Washer ‘ 2X ‘

Detail B

Detail C

WwWWw.exittoys.com

MSP-710-V01

17



EXIT Galaxy Inground Basket

Part.Nr. Qty
13 1
14 1

HARDWARE NEEDED

(2 | — G e

—

N
@)
N

o
©
&
©
-
©

=
o

@@ o0 [ozzs [ \\@

T
N

A

Www.exittoys.com MSP-710-V01 18




HARDWARE NEEDED
© E -ﬂ
M12X225
—\
o) o

i x| e

Q! )
i35 | |

Part.Nr. | Qty @ PN @

=
B

WWW.exittoys.com MSP-710-V0T 19




EXIT Galaxy Inground Basket

:

e

/

" )
VN
KX

AWARNING

Read and understand warnings listed

below before using this product.
EE Failure to follow these warnings may
result inserious injury and/or property
damage.

‘Owner must ensure that all players know and follow

these rules for safe operation of the system.

« DO NOT HANG on the rim or any part of the
system including backboard, support braces or net.

« During play, especially when performing dunk
type activities, keep player's face away from
the backboard, rim and net. Serious injury
could occur if teeth/face come in contact with

backboard, rim or net.

« Do not slide, climb, shake or play on base and/or

pole.

* After assembly is complete, fill system completely
with sand and stake to the ground. Never leave
system in an upright position without filling base
with weight, as system may tip over causing
injuries.

« When adjusting height or moving system, keep
hands and fingers away from moving parts.

« Do not allow children to move or adjust system.

« During play, do not wear jewelry (rings, watches,

necklaces, etc.). Objects may entangle in net.

* Surface beneath the base must be smooth and
free of gravel or other sharp objects. Punctures
cause leakage and could cause system to tip over.

« Keep organic material away from pole base.
Grass, litter, etc. could cause corrosion and/or
deterioration.

« Check pole system for signs of corrosion (rust,
pitting, chipping) and repaint with exterior enamel
paint. If rust has penetrated through the steel
anywhere, replace pole immediately.

* Check system before each use for proper ballast,
loose hardware, excessive wear and signs
corrosion and repair before use.

« Check system before each use for instability.

« Do not use system during windy and/or severe
weather conditions; system may tip over. Place
system in the storage position and/or in an area
protected from the wind and free from personal
property and/or overhead wires.

« Never play on damaged equipment.

« See instruction manual for proper installation and
maintenance.

Please pay attention to the below items of

Portbale Basket:

+ When moving system, use caution to keep
mechanism from shifting.

« Keep pole top covered with cap at all times.

« While moving system, do not allow anyone to
stand or sit on base or have added ballasting on
base.

« Do not leave system unsupervised or play on
system when wheels are engaged for moving.

« Use Caution when moving system across uneven
surfaces. System may tip over.

* Use extreme caution if placing system on sloped

\surface. System may tip over more easily. )

www.exittoys.com




HARDWARE NEEDED
M10
D
"ﬁ ®
e

ty

Q

\ 4

art.Nr.
20

A

WwWWw.exittoys.com




EXIT Galaxy Inground Basket

PartNr. | Qty
19 1

Before digging, contact utility
company to locate underground
power cables, gas, and water EN: The longer the better the distance.
lines. DU: Je groBer der Abstand, desto besser
NL: Hoe groter de afstand, hoe beter
FR: Prévoyez un maximum de distance

Wenden Sie sich vor dem Graben
an Versorgungsunternehmen, um
Spannungskabel, Gas- und Wasser-
leitungen zu lokalisieren.

min.500mm

Informeer voor het graven bij het
nutsbedrijf om ondergrondse
stroomkabels, gas- en water
leidingen te lokaliseren.

Avant de creuser, contactez entre-

prise de service public pour locali-
ser des cables souterrains d'énergie,
de gaz et des conduites d'eau.

Www.exittoys.com MSP-710-V01 22




WwWWw.exittoys.com

HARDWARE NEEDED

o0 [ |

-
X-36

TWO PEOPLE ARE REQUIRED FORTHE
ASSEMBLY. FAILURE TO FOLLOW THIS
WARNING COULD RESULT IN SERIOUS
INJURY AND/OR PROPERTY DAMAGE.

ES SIND ZWEI PERSONEN
ERFORDERLICH FUR DIE MONTAGE.
EIN MISSACHTEN DIESER WARNUNG
KANN ZU SCHWEREN VERLETZUNGEN
UND/ODER SACHSCHADEN FUHREN.

MSP-710-V01

ER ZIJN TWEE PERSONEN VEREIST
VOOR DE MONTAGE. NEGEREN VAN
DEZE INSTRUCTIES KAN LEIDEN TOT
ERNSTIG LETSEL EN/OF SCHADE
AAN BEZITTINGEN

IDEUX PERSONNES SONT NECESSAIRES
POUR L'ASSEMBLEE. SUIVEZ CET
AVERTISSEMENT SOUS PEINE
D'ENCOURIR DES BLESSURES GRAVES
ET/OU DES DEGATS MATERIELS.




EXIT Galaxy Inground Basket

Www.exittoys.com MSP-710-V01 24




WwWWw.exittoys.com MSP-710-VO1




EXIT Galaxy Inground Basket

Www.exittoys.com MSP-710-V01 26




WWW.exittoys.com

Contact information: EXIT Toys is part of:

Edisonstraat 83 info@exittoys.com

7006 RB Doetinchem, The Netherlands www.exittoys.com EXIT Toys is a registered trade mark of Dutch Toys Group




